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Run 5612 mpswise, bpmAx: All Run 5612 mpswise, bpmAx: Beam OFF
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Run 5612 mpswise, bpmAy: All Run 5612 mpswise, bpmAy: Beam OFF
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Run 5612 mpswise, beam ON, laser ON Run 5612 mpswise, beam ON, laser OFF

E 'IE_—
. PR . P L oas Coe L ‘._-.'.'.;’ E —
T i ;. S : Z ~
: g 14_—
o [ Il | : :_ ] . :..I . i i, L | '-!-!:E.f ‘II:]_—
T cl Ty b - ! Ll —
— : ! ' Do —
81— | 8
61— 61—
41— 41—
1 Eﬁllll (AN T T T
'D__||||||||||||||||||||||||||||||||x1ﬂa D_I ||||||”||||||||||||| L o0 e
100 200 300 400 500 600 ﬂl:l' 200 300 400 B00 'E'lﬂl:l'
mpsCoda mpsCoda
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Run 5612 mpswise, beam ON, laser ON Run 5612 mpswise, beam ON, laser OFF
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Run 5612 mpswise, beam ON, laser ON
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